

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

11/20/2023 09:00 AM Travel & Install Event	PO:
1	Shipping Address:
11/21/2023 08:00 AM Touch Ups	Madison Club
11/21/2023 11:00 PM Change Over / Install	Palm Springs
Event 2	
11/22/2023 11:00 PM Change Over / Install	
Event 3	
11/23/2023 08:00 AM Crew OFF - Drive	
Time	
11/24/2023 08:00 AM Change Over / Install	
Event 4	
11/25/2023 07:00 AM Change / Install	
Event 5	
11/25/2023 11:00 PM Strike Event 5	
11/26/2023 11:00 AM Travel to LA	

IN-0006615

The Madison Club

Invoice Date: Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
General					
			Total Gen	eral	\$0.00
Tuesday Even	t, November 21st				
	Pendant Lamp - Casablanca - Metal Star Large Cluster over Center of structure 18"W X 18"H - 25 Watts	4	\$150.00	Т	\$600.00
	Pendant Lamp - Casablanca - Metal Star Medium for over the outer 60" Tables 12"W x 12"H - 25 Watts	8	\$100.00	Т	\$800.00
	Chandeliers - Berlin - Diamond Large 40"D x 40"h - 110lb - 600 Watts	3	\$600.00	Т	\$1,800.00
	Chandeliers - Berlin - Diamond Small 30" D x 30"h - 55lb - 450 Watts	2	\$500.00	Т	\$1,000.00
	Pasadena Straight Banquette Ivory 6'L 6'W x 39"L x 30"H	15	\$350.00	Т	\$5,250.00
	Curved Alcoves Barbacks w. Shelves - Hot Pink 22'W x 18"L x 10'H	1	\$4,500.00	Т	\$4,500.00
	OPTION 1: Bora Bora Bar - Wood Frame Bar w. Rattan Inserts TBD frame Color with Thatching Cane inserts (2) 8'L Center AND (2) Curved Ends (1) 8'L Center AND (2) Curved Ends	1	\$3,500.00	Т	\$3,500.00
	20'W x 12'L x 44"H				

Description		Qtty	Price		Total
	OPTION 2: Santa Fe Bar - Reclaimed Wood w. Cane Natural Wood Frame with Thatching Cane Backing (2) 8'L Center AND (2) Curved Ends (1) 8'L Center AND (2) Curved Ends 159"W x 135"L x 46"H	1	\$3,500.00	Т	\$3,500.00
	Stand Up Tables - Fiji - Round 3' Diam X 42"H	4	\$250.00	Т	\$1,000.00
	Tot	al Tuesday Ev	ent, November 2	1st	\$21,950.00
Wednesday Eve	ent, November 22nd				
	REUSED: Bar TBD Style	1	\$0.00	Т	\$0.00
	REUSED: Straight Banquettes - Ivory	15	\$0.00	Т	\$0.00
	Paper Lantern - Round w. Asian Design 30"D (4) cluster in center of Structure (2) per outer wings 30"	16	\$35.00	Т	\$560.00
	Pendant Lamp - Maui - Wicker Round - Extra Large clustered in center of structure 26.77"D x 27.56"H	4	\$175.00	Т	\$700.00
	Pendant Lamp - Maui Wicker Round - Large for outer wings of structure 23.62"D x 24"H	4	\$150.00	Т	\$600.00
	Pendant Lamp - Maui - Wicker Round - Medium for outer wings of structure 19.68"D x 19.68"H	4	\$125.00	Т	\$500.00
	Total V	/ednesday Eve	ent, November 22	2nd	\$2,360.00
Thursday Even	t, November 23rd				
	REUSED: Bar TBD Style	1	\$0.00	Т	\$0.00
	REUSED: Straight Banquettes Ivory	15	\$0.00	Т	\$0.00
	Pendant Lamp - Savannah - Glass Large to mix with the Montecito Chandeliers in the center of the structure 21"RND x 35"H - 75 Watts	4	\$150.00	Т	\$600.00
	Pendant Lamp - Savannah - Glass Small for over the outer 60" Tables 14"RND x 20"H - 50 Watts	8	\$125.00	Т	\$1,000.00
	Chandeliers - Montecito - Wooden Beads 30"W x 48"H - 20lb - 200 Watts	3	\$450.00	Т	\$1,350.00
	Chandeliers - Montecito - Beads Large 31â [®] 🛚 ₩45â [®] 🛛 H22lb - 225 Watts	2	\$400.00	Т	\$800.00

Description		Qtty	Price		Total
4	Chandeliers - Montecito - Beads Medium for over the outer 60" Tables 23âl 🛚 ₩38âl 🖉 H15lb - 150 Watts	2	\$350.00	Т	\$700.00
ł	Chandeliers - Montecito - Beads Small 16â 🛛 ₩31â 🖇 H8lb - 75 Watts	2	\$200.00	Т	\$400.00
	Т	otal Thursday Ev	ent, November 2	3rd	\$4,850.00
Friday Event, No	wember 24th				
	REUSED: Bar TBD Style	1	\$0.00	Т	\$0.00
	REUSED: Straight Banquettes Ivory	15	\$0.00	Т	\$0.00
	Chandeliers - Moscow Rectangular - Large TBD depending on height of truss 8"W x 53"L x 97"H - 50lb	8	\$600.00	Т	\$4,800.00
S A A A A A A A A A A A A A A A A A A A	Chandeliers - Dubai Glass cluster in center of truss 30"W x 86"H - 50lb - 1Amp	3	\$600.00	Т	\$1,800.00
A	Chandeliers - Buenos Aires - Small 40" W x 6'H - 9lb - 150 Watts	4	\$800.00	Т	\$3,200.00
	Round Booth Channeled Champagne Velvet (2pcs) 6⤠© 10"₩3⤠© 2"±3⤠© 3"H	3	\$600.00	Т	\$1,800.00
0	Top Hats - Monaco Ivory Velvet 8' Diam	1	\$650.00	Т	\$650.00
	Molding Panel 10'H x 36"W - TBD color with wallpaper in the inserts - tbd design	11	\$950.00	Т	\$10,450.00
ų.	Sconces Buenos Aires Gold & White for the molding panels 6"W x 20"H - 75 Watts	6	\$150.00	Т	\$900.00
	Stage Front Molding - TBD Measurements & Color with matching wallpaper in inserts	4	\$550.00	Т	\$2,200.00
		Total Friday Ev	ent, November 2	24th	\$25,800.00
Saturday Event,	November 25th				
	Monaco Straight Banquette - Black Channeled 6'L 6'W x 39"L x 30"H	6	\$350.00	Т	\$2,100.00

Description		Qtty	Price		Total
	Pasadena Straight Banquette - Ivory 6'	1	\$350.00	Т	\$350.0
	6'W x 39"L x 30"H				
	Custom 'Mad Hatter' Pendant Lights pricing approx; colorful top hat with edison light bulb and socket for each hat	20	\$200.00	Т	\$4,000.0
Ń	Chandeliers - Sofia - Black Large	3	\$350.00	Т	\$1,050.0
	34"W X 40"H - 45lb - 450 Watts				
Ā	Chandeliers - Sofia - Pink	2	\$300.00	Т	\$600.0
	26"W x 38"H - 22lb - 175 Watts				
	Chandeliers - Sofia - Purple	2	\$300.00	Т	\$600.0
	26"W x 38"H - 22lb - 175 Watts				
	Chandeliers - Sofia - Red	2	\$300.00	Т	\$600.0
	26"W x 38"H - 22lb - 175 Watts				
•	Total S	Saturday Ev	ent, November 2	5th	\$9,300.0
Services					
	Installers: Travel to PS and Install Nov 20th Monday	6	\$650.00		\$3,900.0
	Installers: Touch Ups for Event 1 Nov 21st Tuesday AM	6	\$350.00		\$2,100.0
	Installers: Strike Event 1 & Install Event 2 Nov 21st Tuesday PM	6	\$550.00		\$3,300.0
	Installers: Strike Event 2 & Install Event 3 Nov 22nd Wednesday PM	6	\$550.00		\$3,300.0
	Installers: Travel Day Nov 23rd Thursday AM (Holiday)	6	\$650.00		\$3,900.0
	Installers: Travel & Install Event 4 Nov 24th Friday AM	6	\$650.00		\$3,900.0
		6	\$550.00		\$3,300.0
	Installers: Strike Event 4 & Install Event 5 Nov 24th Friday PM	0	•		
		6	\$550.00		\$3,300.0
	Nov 24th Friday PM Installers: Strike Event 5				
	Nov 24th Friday PM Installers: Strike Event 5 Nov 25th Saturday PM Installers: Travel Day	6	\$550.00		\$2,100.0
	Nov 24th Friday PM Installers: Strike Event 5 Nov 25th Saturday PM Installers: Travel Day Nov 26th Sunday Afternoon Installers: Additional Day Drivers	6	\$550.00 \$350.00		\$3,300.0 \$2,100.0 \$2,500.0 \$4,550.0

Description		Qtty	Price	Total
	Accommodations: Hotel Rooms for (5) Nights price approx until confirmed	3	\$1,750.00	\$5,250.00
	Accommodations: Per diem for (7)	6	\$483.00	\$2,898.00
	Supplies: Onsite for (5) Days	1	\$2,250.00	\$2,250.00

Please make checks payable to Revelry, Inc.	Total Products:	\$64,260.00
Note: Driver to delivering and nick upped linusing must be new in full	Total Labor/Services/Misc:	\$47,143.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Wear & Tear (3.00%):	\$1,927.80
	Packing (3.00%):	\$1,927.80
Notes	Taxes :	\$6,104.70
	Discounts:	(\$0.00)
	Total:	\$121,363.30
	Payments:	(\$0.00)
	Balance:	\$121,363.30